
Nr. x

p7 4

m5 4

p9 4

g1 4

001 2

002 1

003 1

004 6

005 1

006 1

007 2

mag-
neet 1

a9 2

Grow Station
Nr. x

a1 42

a2 42

a3 2

a4 2

a5 5

a6 4

a7 4

a12 4

a13 4

s1 1

p6 4

m11 1

a10 1

M6x10

M6

M4x22

M4x12

M4-L

3.5X19

4.2X9.5

4X25

305 mm

1000 mm

756 mm

1000 mm

742 mm

1

Nr. x

008 2

009 2

010 1

011 1

012 4

013 1

014 2

015 1

016 1

017 2

018 1

019 1

M4

320 mm

756 mm

756 mm

366 mm

366 mm

994 mm

980 mm

980 mm

756 mm

366 mm

764 mm

764 mm

323 mm

1000 mm

205 mm

1000 mm

Seed trays are  
put on each floor

001

014

016

a7

a12

014
a7015

001

013

012
011 010

s1

013

008

018012

a1/a2

008

016 014017

a4/a5/a6

a3/a5/a6

017

008

014
a4/a5/a6

a3/a5/a6

018

009

001

016

018

013

019 009
009011 010

003

005

012

012

008

008

a3/a5/a6

014
a4/a5/a6

014

016

015

D

D

9 x

m4x8 m4-S

Montagehandleiding / Instructions de montage /
Montageanleitung / Manual

76,5 L x 39,5 W x 101,5 H cm     RW2286H
W

L



2

D 

C C A A 

B B 

P7 P7 

P7 P7 

P6 

P6 

P6 

P6 

C 

P7 

P7 

750m
m

 500m
m

 250m
m

 

002 

001 

002 

001 
003 

004 

001 

001 

002 

004 

004 

004 

005 

003 
001 

003 

005 
001 

A 

P6 

A 

001 018

007

a1/a2

001

001

018

019

002

004

004

004

005

006

004

004

004

007

007

008

008

003

005

004

001

018

C

008

a3

a5/a6

008
005

001
018C

D 

C C A A 

B B 

P7 P7 

P7 P7 

P6 

P6 

P6 

P6 

C 

P7 

P7 

D 

C C A A 

B B 

P7 P7 

P7 P7 

P6 

P6 

P6 

P6 

C 

P7 

P7 

D 

C C A A 

B B 

P7 P7 

P7 P7 

P6 

P6 

P6 

P6 

C 

P7 

P7 

P6 + P7 Detail

250m
m

 
500m

m
 

750m
m

 

019 018 

004 

004 

004 

006 

018 

a12 

018 

006 

004 

019 

006 
a10 

a5 

m11 
250m

m
 

500m
m

 
750m

m
 

019 018 

004 

004 

004 

006 

018 

a12 

018 

006 

004 

019 

006 
a10 

a5 

m11 

250m
m

 
500m

m
 

750m
m

 

019 018 

004 

004 

004 

006 

018 

a12 

018 

006 

004 

019 

006 
a10 

a5 

m11 

Montagehandleiding / Instructions de montage /
Montageanleitung / Manual



3

009 009 011 010 

012 012 

012 012 

B B 

009 
012 

B 
B 

B 

012 

012 
011 

010 

009 

012 

019 

Seed trays are  
put on each floor

001

014

016

a7

a12

014
a7015

001

013

012
011 010

s1

013

008

018012

a1/a2

008

016 014017

a4/a5/a6

a3/a5/a6

017

008

014
a4/a5/a6

a3/a5/a6

018

009

001

016

018

013

019 009
009011 010

003

005

012

012

008

008

a3/a5/a6

014
a4/a5/a6

014

016

015

D

D

012 

010 

011 

012

012 

009 

Seed trays are  
put on each floor

001

014

016

a7

a12

014
a7015

001

013

012
011 010

s1

013

008

018012

a1/a2

008

016 014017

a4/a5/a6

a3/a5/a6

017

008

014
a4/a5/a6

a3/a5/a6

018

009

001

016

018

013

019 009
009011 010

003

005

012

012

008

008

a3/a5/a6

014
a4/a5/a6

014

016

015

D

D

017 

014 

a4/a5/a6 

a3/a5/a9 

Montagehandleiding / Instructions de montage /
Montageanleitung / Manual



4
www.royalwellkassen.nl

Montagehandleiding / Instructions de montage /
Montageanleitung / Manual


